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Transactor 1: 	100% Transaction Rate


		100% Req. Iterations





Transactor 2: 	50% Transaction Rate


		50% Req. Iterations





Transactor 3: 	33% Transaction Rate


		33% Req. Iterations





Transactor 4: 	25% Transaction Rate


		25% Req. Iterations





Transactor 5: 	20% Transaction Rate


		20% Req. Iterations











Synch point 1 waits for transactor 1 to run in U/G 1





Synch point 2 waits for Trans 1 to run in U/G1, and Trans 2 in U/G 1&2





Synch point 3 waits for Trans 1 to run in U/G1,  Trans 2 in U/G 1&2, and Trans 3 in U/G 1,2&3





Synch point 3 waits for Trans 1 to run in U/G1,  Trans 2 in U/G 1&2, Trans 3 in U/G 1,2&3, and finally �Trans 4 in U/G 1,2,3 








